il

g
=
s
i

1. ¥¥4
¥4 SR TEESIENN - NHIKE, R L OO 35
JBA T IR || = E s N

2. EBEAR
1) FEF4 ERHA ) EREFH AT FiskiAkaR
365 H H &f1 74 44 1H

2) JE1THIR
£ ofn 8% 3H3LH

3) &FEtHM
AT, RIEN KOV ORIKRZ AR L, IE B, KRN ONT K

BREOEBEEIET 2 HLOTHD,

4) FEHBNA
BFEERERD LB Y

E+sZi@E SN



BN

Tl
P

==
=]

¥BA | AR TEEREN - AAKE, ERERA K OO Eg =
H H KE A
THH - THE - FER 5 4 H OB N AR
KE A = 19, 602, 537
KE A 2V 19, 602, 537
FHEvE( X 165,390 | FmivEf
1 K
B 2 244,502 | BIHIFHA
1 K
BoK - BiE =X 4,251,940 | Bk CRiE i)
1 =X
e @l B
1 X
K OJ@) T k)
1 X
e OR@) )
1 X
2%/ G
1 X
BIe I
1 =
Bk (HTFK)
1 =
Bk (EKEERA)
1 =
ST 9,701,005 | AfEERBEIEH
1 =
I H
1 =
FREGITHH
1 =
B IEE
1 =

E+sZi@E SN



m
2
%

==
=]

EBs | AR THEERIEI - NAIKE, JEEE R OO E W=
H H KERE
THH - T - fER] A7 # & KA OB ORR
Z O BEhHIE
1 =
JEE
1 =X
Vi =Y 3,450, 640 | Rk EBIHI (RIE) L)
1 =X
KRR ORI Rt
1 =X
KRR ()
1 =X
s EVER X 1,789,060 | SRR
1 =
I5m = 163, 750
3w = 163, 750
frowe = 163,750 | #I&¢
1 A
E R = 277, 357
PR = 277, 357
S Gk - = 146, 357 | Jikte (EFtE - &AM
1 =
Ty R = 131,000 | R AR
1 =
EEH R = 20, 043, 644
R e = 6, 806, 356
AR = 6, 806, 356
-2 - E+2mE SN )R



FEH N

AR
¥4 | BRI TEEREN - DNUNKE, JRERA N OO ER i I RFER
HH RS
HHE « 1Tff - fiihl B fif W& & FH MR N R
P ESERSM = 1 26, 850, 000
— 3 —

E+sZi@E SN



